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VA b =S X R G TE) EH 15em JE 1. 5mm
ok M4 f
(1)
m 1,480 324.6 480, 408
VA b =S X R WA FE) 777 45em JE1. 5o
ok M4 f
(2)
m 360 815. 1 293, 436
VA b =X X R T E) RA-FEE - 30T 15¢e
S JE1. Smm R Al
(3)
m 160 749.9 119, 984
X R HilE Y =X
m 1,169 568. 7 664, 810
T % BRI R
= 1 2,543, 341
EE LT
= 1 424, 620
IRHE -
= 1 150, 780
ML Ty R
= 1 273, 840

ERReoaii RNl R S
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
T8 [ IR AR R M A 1
= 1 773,132
18 R R % FERE, FRABALT 7 H
H 4 151, 613 606, 452
HE A R R TERAT B A
H 5 33, 336 166, 680
TRRRAT SRR L
= 1 549, 310
TRRAT ELBfERR ¢ 500 L=1600
T 5 109, 862 549, 310
Bl & - Bk L
= 1 703, 652
b i FEP & 30mm
m 147 733.8 107, 868
b o iR CVr=7" W (BOOVERAGR V=77 W) 2.0
600V 5. 5mm2 X 2C
m 147 1,821 267, 687
LRz FR R CVr=7" W (BOOVERAGR V=77 W) 2.0
600V 5. 5mm2 X 2C
PR 7 41, 327 289, 289
HHER AR~ MG W=150
m 147 264 38, 808
N VR E L
= 1 92, 627
7 VR A RV T H1-6 600X 600X 600 Hifif/ £P2K-6
ofF &
T 1 92, 627 92, 627
EEMRE T
= 1 4, 282, 360
B3 A 2= 1
= 1 38, 640

ERReoaii RNl R S
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THEX Sy« T - R - A5 B B B B G = A H (GRS
5 38 A CRE I - B P4 B7 LA fi
m 40 966 38, 640
M EUE L L
= 1 2, 804, 344
av)) - M IS BUE L MEATHEEY) B L
m3 94 10, 279 966, 226
SRR O TAT7VIMERZERR 15emELl
= 1 910, 926
LIRS TAT7MERZER SHEERRE 4~12 ¢
m
m2 1, 680 551.9 927, 192
Pk & T
= 1 168, 040
e [UFIEIRE 400
m 203 577.5 117, 232
RHRPKE ML = VU ¢ 200
= 1 50, 808
T IR AR i f s 1
= 1 198, 370
TE B BRI AT iR TR R E
H 5 15, 428 77,140
b A R FEP & 30mm
m 145 69. 67 10, 102
b R 2 CV5. 5sq—2C
m 145 766. 4 111, 128
TE AL T
= 1 1,072, 966
PHaukiil vy -k (TR
m3 94 1,571 147, 674
-6 - EhAZma B s i R
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
eI TAT 7V bk
m3 120 2,157 258, 840
SISy vy - (TR
m3 94 4,283 402, 602
WAL Gy TAT 7V bk
m3 120 2,141 256, 920
HIS 364 SR RRWTIS R A - = U 0. 65t
= 1 6, 930
% T
= 1 5, 845, 384
RIEE T
= 1 5, 845, 384
RFE AR B
B
= 1 5, 845, 384
HEHER
(fg H[X)
= 1 19, 110, 503
Al T
= 1 854, 106
TAT7 V%S T
HOEELE (1) [%R]
= 1 126, 000
b A (- BT ER) AR 22 EAEAS (40) LRV
J& 80mm
[##]
m2 20 2,254 45, 080
g (8 - BIE ) S As HLRITTRY (20) DS5000 &fid
JZ 50mm 1.4mPL B3, OmLL T
[##]
m2 20 2,023 40, 460
F g (8 - FIE ) S As FRITTRL (20) DS3000 %t
JZ 50mm 1.4mPL 3. OmPL T
[##]
m2 20 2,023 40, 460
TAT7 V%S T
HOEELE (2) [%R]
= 1 251, 506
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THFX Sy - AR - FRB - B B BRRAL K & BB A & (GBS
g % (3 - BT 0) FAIT9ve77 RC-40 11 BV JE 200
mm
(%]
m2 35 663 23, 205
- s (3 - FEIE ) AR A RM-40 {1 Y
= 150mm
(%]
m2 35 646. 22, 641
- s (3 - FEJE ) AT T 22 AL (40) {1 BV
= 80mm
(%]
m2 35 2,112 73, 920
Hfg (HE - BKIHER) SEAs UK (20) DS5000 #fidk
JZ 50mm 3. OmiA
(%]
m2 35 1,882 65, 870
g (HE - BIFHR) SEAs R 11 (20) DS3000 Hfidk
JZ 50mm 3. OmiA
(%]
m2 35 1,882 65, 870
TAT7 IV MEEE T
HE A2 (3)
= 1 476, 600
I e i (3 - B 0) BAIT9v477 RC-40 11 BV JE 300
mm
m2 100 985 98, 500
- s (3 - BRI E) AR RM-40 {1 BV
= 250mm
m2 100 1,014 101, 400
8 (H5E - BIFE) FRAMURLE T 22/ (20) #4252 50m
m 3. OmiA
m2 100 1,411 141, 100
e (H3E - BIFE) FRAERRLET A2/ (20) 4252 50m
m 3. OmiA
m2 100 1,356 135, 600
Pk &) L
= 1 11,192,911
E¥+ T
= 1 2, 680, 858
IRHE +#p
= 1 79, 189
IRHE +#p
1)
= 1 45, 640

ERReoaii RNl R S
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THFX Sy - AR - FRB - B B BHI AL = aE i 2 (BB &)
IRHE +#p
) [#&f]
= 45, 750
HREL RC-40
1)
= 134, 520
HEL 12
2)
= 35, 820
HREL RC-40
(3) [#&f]
= 83, 960
HREL e+
(4)
= 282, 900
HREL e+
(5)
= 178, 200
HREL e+
6) [#fH]
= 134, 100
FEHA (v=27) +Hb +H50, 000m3AT
1)
= 80, 172
FEHA (v=27) +Hb +H50, 000m3AT
) [#&f]
= 13, 295
g 7% 12 AU H G oo je s
= 64, 152
RS SEER W Cad- ERiEY 5T Bl
L O IRE &S
1)
= 413, 230
RS SEER W CaEM- ERiRY L5t Bl
L O IRE &S
) [#%f]
= 115, 500
RS SEER T CadL- ERiRY 15T
BEHro8E MELMH)
(3)
= 345, 960
RS SEER T CaHL- ERRY 15T
BEHr08YE MELM)
@ [#&f]
= 57, 750
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
ERESTR TR CESE- ERIRY L&) K
[ERE Ny U
(5)
= 1 243, 360
b5 e Y Uy
= 1 327, 360
18V T
= 1 632, 122
WK — b A HEAR Y-
m2 113 5, 594 632, 122
BT
= 1 1,661, 791
oA MAKE ¢ 1500
(1)
m 19 10, 958 208, 202
oA MAKE ¢ 1500
@) [#%M]
m 9 15, 244 137, 196
FERREA BAIT9Y17740~0 t=30cm
m2 48 1,900 91, 200
FERREA BAIT9Y17740~0 t=30cm
[##]
m2 24 2,567 61, 608
IR E B BERE 0 800 (L=9m) ANFLATT &
Te (N=13%)
= 1 549, 758
SCHA e ta-bE 134K
H 3 204, 609 613, 827
A KMk k- T
= 1 6, 218, 140
VAZ VAN HEST A TR/ k= 2200 X 2200
T 1 4, 949, 288 4, 949, 288
7" VR AN R-N REZS IRVA ey
(1)
T 1 111, 152 111, 152

- 10 -
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THEX Sy« T - R - A5 B B B B G = A H (GRS
7" VR AN R-N b3EVIZ IVAZ S
(2)
&30 1 881, 294 881, 294
7" VR AN R-N FEANT AT k-
(3)
&30 1 276, 406 276, 406
&M E T
= 1 599, 817
S EUE L T
= 1 464, 682
av)) - M IS BUE L MEATHEEY) BB L
m3 4 10, 396 41, 584
SRR O TAT7VIMEHEERT 15cm% # % 30cmbh
.
1) [##]
= 1 29, 646
SRR O TAT7VIMEHEERR 30cm% # % 40cmbh
.
(2)
= 1 119, 992
LIRS TAT7VIMEREERR BHZEARIE 18 c m
1) [##]
m2 23 1,027 23, 621
LIRS TAT7VMEEERR SRS 37.5cm
(2)
m2 49 1,732 84, 868
EMARINEEN a/))-hZEFLEE HIFLAE150mm ZEFL
P& £243mm
(1)
L 21 7,373 154, 833
EMARINEEN /) -hZEFLEE HIFLAE250mm ZEFL
& & 140mm
(2)
L 1 10, 138 10, 138
TE AL T
= 1 135, 135
PR aukiil TAT 7V bk
m3 19 2, 644 50, 236
PHaukiil TAT 7V bk
(1) [##]
m3 4 3,210 12, 840
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
eI vy -k (TR
(2)
m3 4 2,215 8, 860
A5y TAT7 Vb iE
m3 19 2,141 40, 679
A5y TAT7 Vb iE
1) [##]
m3 4 2,165 8, 660
ALy vy =gk (TR
(2)
m3 4 3, 465 13, 860
% T
= 1 6, 463, 669
Wi L
= 1 833, 691
T8 T - 78 T AT PR - 450
(-2 [#&fH]
= 1 659, 268
T8 T - 78 T AT i 53m2
(2)
= 1 174, 423
B AR B T
= 1 1, 420, 420
7= CGARR S L8 31m
= 1 1, 420, 420
RIEE T
= 1 4, 209, 558
i e kg =
B
= 1 1,913, 844
i e kg =
B [#%f]
= 1 2,295, 714
HEHE R
R i X))
= 1 43, 601, 337
- 12 - EhAZma B s i R
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
Rt T
= 1 23, 789, 786
R T
RN IS TE RS
= 1 960, 788
LSV
m3 23 27,785 639, 055
/)= MERKR 24-12-25(20) (F&%7) 15cm
m2 30 7,988 239, 640
BE AL 480X 980 X 25
m2 1 34, 684 34, 684
HiAfa 199v4=77  C-40
m3 5 8, 564 42, 820
HE H200 X B300
m 0.4 11,473 4, 589
R T
I N LA B
= 1 7, 102, 609
LS i
m3 95 27, 694 2, 630, 930
/)Y =MERKR 24-12-25(20) (F&%7) 15cm
m2 95 8, 281 786, 695
BEE A4 t=25mm
m2 70 41, 892 2,932, 440
HE H200 X B300
m 72 10, 452 752, 544
5 1EAff T
= 1 15, 726, 389
FHAFHEETE RS AT H=1.1m HE3HRAH&
m 89 176, 701 15, 726, 389
- 13 - EhAZma B s i R
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
AnT=h 1L
= 1 11,927, 007
EE LT
= 1 299, 490
R Y +-b 190m3
= 1 42, 864
MR L +wb 130m3
= 1 242, 450
FETHRE R 31m2
= 1 14, 176
P T
= 1 258, 850
ER L STR T CEHL ERIRY L& Te) 50m3
= 1 124, 000
b Y U 50m3
= 1 134, 850
RS EY A
= 1 9,905, 823
PRI )L /N— | H4500 X B2000
m 9 970, 538 8, 734, 842
Bk — bk W=300
m 23 17, 050 392, 150
1EIKAR t=10mm, W=200mm 7" Fha" A%
m 7 5, 238 36, 666
T 1 552, 523 552, 523
7 VANVl $ 600 H=1657 #H (¥ LphIEA
B & T-14)
H 1 189, 642 189, 642
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
RN 72
= 1 1,462, 844
LR AT 9Y47740~0 I 0. 2m
m2 31 1,315 40, 765
¥ Layy)-h 18-8-25 (&%)
m3 3 36, 042 108, 126
av)-p 24-12-25 (& 47)
m3 25 24, 258 606, 450
ERAR SD345 D13
t 0.63 184, 083 115, 972
Flp — R 60m2
= 1 536, 880
I EEVZIRN 18-8-25 (&%)
m3 0.9 33,791 30, 411
B HiA IR TV (30f5587) t=10
(1)
m2 2 3, 253 6, 506
B HiA IR TV (30f5587) =20
(2)
m2 3 4, 148 12, 444
1E7KAR FF200 X 5
m 2 2, 645 5, 290
o5 3 A L
= 1 5, 865, 869
FEARI B AT L
= 1 5, 865, 869
HL A B A =W A S A =37
(1)
m 156 1,456 227,136
HLE A B A &b =b v BB 304K (5m)
. 24 (3m)
(2)
= 1 5, 638, 733

- 15 -
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
[fGan
= 1 2,018, 675
B AR B T
= 1 1, 395, 563
SHRAR IR SPHRRNE S 9.5m
RHFTIAE 9m
bie 13 107, 351 1, 395, 563
RIEE T
= 1 623, 112
S AT
B
= 1 623, 112
HEHE R
(BPfR4)
= 1 6, 029, 590
BRE T
= 1 3, 584, 600
JEFEBRE T
= 1 3, 584, 600
TEBRE (EA)
m2 20, 000 151.9 3, 038, 000
BRI Sy
m2 20, 000 27.33 546, 600
AR - XK T
= 1 250, 510
38 &K T
= 1 250, 510
&K E] FA RN
=] 10 25, 051 250, 510
SRR T
= 1 1, 096, 616
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
SR AL (RS T
= 1 1, 096, 616
IS
= 1 1, 096, 616
[fGan
= 1 1,097, 864
RIEE T
= 1 1,097, 864
i e kg = TANH
B
= 1 1,097, 864
[EEE AR
= 1 122, 044, 570
MR E
= 1 20, 198, 515
BTl TE:
= 1 4, 203, 647
T
= 1 974, 452
AR T BIWR., = TARES -
(i H[X)
= 1 907, 732
AR T 25 DA 10. 1t
(i H[X)
= 1 66, 720
HTE
= 1 578, 332
EREE T ¥ 3/
= 1 485, 541
EREE TN 2R E & - B2
(1)
= 1 42, 396
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
BB AT — X EkE
= 1 50, 395
BUGERRYCEE (K5 1)
= 1 2, 650, 863
HimEpE (FE L)
= 1 15, 994, 868
g
= 1 142, 243, 085
BTk Xegiiv oy
= 1 47, 093, 279
R 5]
= 1 189, 336, 364
— R RS
= 1 29, 363, 636
T HAlik
= 1 218, 700, 000
THE B 2 %8
= 1 21, 870, 000
TG
= 1 240, 570, 000

- 18 - ERReoaii RNl R S




